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18 August RRB NTPC Mains Mathematic Mega Quiz

Q1. A T.V was sold at a profit of 5%. If it had been sold at a profit of 10% the profit would have
been Rs. 1000 more. What is its cost price?

T A F 5% F ATH I AT AT &, AR T 10% F AT I 9T 14T av 1000 TG FFAF HT ATH W
BIAT.JT ST AN g Fobaer 872

(a) Rs. 20000

(b) Rs. 5000

(c) Rs. 10000

(d) Rs. 15000

Q2. A man sells two chairs at Rs. 120 each and by doing so he gains 25% on one chair and loses
25% on the other. His loss on the whole in Rs. Is

T ASHT 120 T9F Tia FHT F T & 4 FEAT @OAT & 3 THRE IH TFH FAT 9C 25% FT A9 3 @4 W/
25% FY FIA BT 5. TL ATI H Iqht T fvaei &

(a) 20

(b) 16

(c) 25

(d) 30

Q3. A man sold two articles at Rs. 375 each. On one, he gains 25% and on the other, he loses 25%.
The gain or loss% on the whole transaction is

T AEH T Y a6 375 I TAF & ToF T I, TH I, S 25% FT ATH i AL T S 25% Fit g
BT 8. T AFeT I ATH AT g% fhaer 872

(a) 6% loss/GTTeT

(b) 479% profit/aTsT
(©) Rs. 50 profit/&Tse

L ),
a 61% loss/B =

Q4. A man wanted to sell an article with 20% profit: but he acutually sold at 20% loss for Rs. 480,
At what price he wanted to sell it to earn the profit?

T SEHT T a6 Bl 20% F ATH T S94T7 ATgaT §: Alh 9g areqd | 480 94 H 20% FY A 9 994 8.
3G AT A a FA % g 3@ g Fra g a=4r =nfge?

(a) Rs. 720

(b) Rs. 840

(c) Rs. 600

(d) Rs. 750
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Q5. If an article is sold at 5% gain instead of 5% loss, the man gains Rs. 5 more. Find the cost price
of that article

I TF & F T 5% FT ZA F 90T 5% F ATH I =T ATAT 8, AT SMEHT il 5&FTF AT TTH S & T FT
AN G 1T Hifor.

(2) Rs. 100

(b) Rs. 105

(c)Rs. 50

(d)Rs. 110

Q6. On selling an article for Rs. 105 a trader loses 9%. To gain 30% he should sell the article at

105 T § T & il 99 9 T ATITY Tt 9% F I TTH Zrl & 30% FT ATH ITH HLA {0 S 87
&t farer g 9 A=t TR w?

(a) Rs. 126

(b) Rs. 144

(c) Rs. 150

(d) Rs. 139

Q7. An article is sold at a loss of 10%. Had it been sold for Rs. 9 more there would have been a gain

1
=0
122;“5

of on it. The cost price of the article is:

Tk T T 10% HY T 9 =7 (14T 2. AR 38 9 w9 ATAF 9T S=T AT Q7 T9 W 129 1w
BIAT. T T AWTT o FohaT &

(a) Rs. 40

(b) Rs. 45

(c)Rs. 50

(d) Rs. 35

Q8. By selling a table for Rs. 350 instead of Rs. 400, loss percent increases by 5%. The cost price of
table is:

T 29 Bl 400%9F F I 350 T | a9 I, I Taaqa # 5% ¥ Il Gt 8. oA T ARG o7 T
&

(a) Rs. 1,050
(b) Rs. 417.50
(c) Rs. 435
(d) Rs. 1,000

RRB NTPC 2019
Q9. The marked price of an article is Rs. 500. It is sold at successive PR'M E PACK AGE

discounts of 20% and 10%. The selling price of the article (Rs.) is:

TH & FT Ahd o 500 T §. T 20% 3T 10% Fit TR FE I 100 + TOTAL TESTS

9T STAT 3. aEg & fAwd o (F09) Fae & 40 Full Length Mocks

(a) Rs. 350 30 Section Wise Tests

(b) Rs. 375 10 Previous Years papers

(c) Rs. 360 20 +Topic Wise tests

(d) Rs. 400 eBooks
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Q10. The marked price of an article is 10% higher than the cost price. A discount of 10% is given
on the marked price. In this kind of sale, the seller bears

T 9E FT dfhd T T80 AR T F 10% AT g, dfha ToT 98 10% i ge & ATt §. 90 T fhr
fsRaT & == | graT 872

(a) AT T, A7 =T

(b) 5% T gr=

(c) 1% T =TH

(d) 1% ¥ grier

Q11.P can do a piece of work in 10 days, which Q can finish in 15 days. If they work on alternate
days with P beginning, in how many days the work will be finished?

P faret wrd Y 10 fRAT & F< ghat &, ™ Q 15 AT # ¥ T G%har €. IR F P F 4T LHT FQ T
Fafeas AT 9X w9 FQ 8, T fFaw A &/ w1 qarg g smwm?

(a) 12 days/ fa=

(b) 18 days/ fa=

(c) 10 days / fa=

(d) 6 days/fa=

Q12.P, Q and R can do a work in 20, 30 and 60 days respectively. How many days does it need to
complete the work if P does the work and he is assisted by Q and R on every third day?

P, Q 3% R et &1 &1 ##ar: 20,30 i 60 3t & FT Gt §. IfT P F1H FLaT g i gL AW ’T Q sik R
T TETAAT FLA § AT F1 H G FA & forg fawaer foAt it sraegwar g2

(a) 30 days /&=

(b) 25 days/fe=

(c) 15days /fa=

(d) 10 days/fe=

Q13. A completes 80% of a work in 20 days. Then B also joins and A and B together finish the
remaining work in 3 days. How long does it need for B if he alone completes the work?

A Tt 1 %7 80%, 20 T # T < T §. B 9T ST § X A 3iX B 99 4 & 3 {371 # 9691 F: &.
AT B &1 I 1 A | Tt a0 A7

(a) 39 % days /fae

(b) 37 ¥ days/fa=

() 40 days /fa=

(d) none of these / T7® H IS LT

TEST SERIES

Q14.1If 6 men or 12 women can do a piece of work in 32 days, in
how many days 48 men and 32 women will do the same piece of STAGE-II
work?

I 6 TEW =i 12 wfgar fadt wrf #r 32 A1 # w< 99d g, 48 79 i
32 ATEAT AT F1d Y QT LA | fohaqar a0 Avfi? RRB JEPRIME
(a) 4 days /fe= CS & IT

Eb)) 8 :ays//ﬁé; 30+ TOTAL TESTS
c) 6 days

(d) 3 days/fat Validity : 2 Months
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Q15. Kamal will complete work in 20 days. If Suresh is 25% more efficient than Kamal, he can
complete the work in days

FH FeT 1 #7120 AT & FT aoar § . IR T 79 F 25% AfSF Frerer §, 98 Fd i Faw a9 § Q7
F?

(a) 12 days /fe=

(b) 15 days/fe=

(c) 16 days /fa=

(d) 13 days/fe=

Q16.4 men can complete a piece of work in 2 days. 4 women can complete the same piece of work
in 4 days whereas 5 children can complete the same piece of work in 4 days. If 2 men, 4 women
and 10 children work together, in how many days can the work be completed?

4 gy faeft %7 a7 2 oA § QU T q6q 8. 4 7T a6 w1 F 4 QAT § 2 w1 gt g et 5 9y 99
1 4 AT/ QU FT g4 8. AR 2 T2V, 4 ARET i 10 99 TF 990 F7F FLQ@ § dF FF (6 @Al § G
BITT?

(a) 1 day /fa=

(b) 3 days /fa=

(c) 2 days /fa=

(d) 4 days/fe=

Q17. Work done by A in one day is half of the work done by B in one day. Work done by B is half of
the work done by C in one day. If C alone can complete the work in 7 days, in how many days will
A, B and C together will complete the work?

AT T e # OhgT T 1 B g1 U fow § g @ i 7 T 81 B gy AT T # C gy uE o
# T T FTE T AT B AR C St FA iy 7 AT W QT FX GHaAT €, AT A, B 3R € e frae e d
T FAA?

(a) 28 days /&

(b) 14 days/fe=

(c) 4 days /fa=

(d) 21 days/fe=

TEST SERIES
STAGE-II

Q18. A is thrice as good a workman as B and takes 10 days less to do
a piece of work than B takes. B can do the work in

A, B T T[OIT S1=17 FHAIE g X B Y 1 § T FH F § 10 fiq w7

A T 21 B R Rt 7 e e et 27 RRB JE PRIME
(a) 21 days /&= ELECTRONICS
(b) 15 days/fe= 30+ TOTAL TESTS
(c) 20 days /&=

(d) 30 days/fa= Validity : 2 Months
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Q19. A man can do a piece of work in 5 days, but with the help of his son, he can do itin 3 days. In
what time can the son do it alone?

T A feft F1f & 5 AT & qXr T aoaT &, 7% 9 O i agrEaT 4 98 79 3 A # wrwar €. e
THT | AT et FTF FHE THAT 52

(a) 7 days /fe=

(b) 8 days/fa=

(c) 7 % days /fa=

(d) 6 % days/fa=

Q20. A and B alone can complete work in 9 days and 18 days respectively. They worked together.
However 3 days before the completion of the work B left. In how many days the work was
completed?

A & B fdt &1 & wwer: 9 AT v 18 oAl # 7 7T 9 §. 98 T a1 1 Fd g, graAiiah w14 g g
¥ 3 fam wget B w1 |1 <qT 5. F fhaw et & qzr geme?

(a) 10

(b) 8

(c) 20/3

(d) 7

Q21. Which one of the following is a factor of the sum of first twenty -five natural numbers?
Rt & & i 97 986t 25 YTHfd® G el & T FT TH FH 82

(a) 26

(b) 24

(c)13

(d)12

Q22. The least positive integer that should be subtracted from 3011x3012 so that the difference is
a perfect square is

g IAGH TS qUITeh G&dT AT h< O 3011 x 3012 § FSTAT ST ATRY AT A< TH IF a1 gl

(a) 3009

(b) 3010

(c)3011

(d) 3012

Q23.Ifa and b are positive integers and a* b? =72, then (a + b) is equal to

713 a 3T b &ATHE TUITF § oI a® b% =728, T (a + b) fFas aqe 82

(a) 36

(b) 17 TEST SERIES

(c)8 STAGE-II
(d) 5

Q24. The sum of two numbers is 8 and their product is 15. The sum RRB JE PRIME
of their reciprocals is

QT HEATSH T NT 8 § 3T ST AR 15 | ST hH T JNT 4T g2 MECHANICAL
(a)15/8

(b) 8/15 30+ TOTAL TESTS
23/5
E?) 2//5 Validity : 2 Months

5 | www.bankersadda.com | www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/2739/RRB-JE-Mechanical-and-Allied-Engineering-Stage-II-Prime-2019-Online-Test-Series-Special-Pack

Q25. A number, when divided by 221, leaves a remainder 64. what is the remainder of the same
number is divided by 13?

TF &7 F 99 221 ¥ FFrwrior fFrar smar € ar Quss & €7 7 64 WTH g1 8. IR 99 gedr f 13 §
R R st atr Srwwer =T g e

(@0

(b)1

(c)11

(d) 12

Q26. When a number is divided by 24, the remainder is 16. The remainder when the same number
is divided by 12?

S T € AT i 24 F Frsicm fFam sman g, aF auwe 16 AT @) 59 quT g1 & 12 § e R smar
g qr ATHA 9T FIIT?

(a)3

(b) 4

(c)6

(d)8

Q27. What is the remainder when (¢"'+1) is divided by (x+1),

s (<41 T (+1) 3 yrrfr fam ST & Y et T ST
(@)o

(b) 2

()11

(d) 12

Q28. Two numbers, when divided by 17, leave remainders 13 and 11 respectively. If the sum of
those two numbers is divided by 17, the remainder will be

I 91U 5w 17 § fEwrfora it STt §, a7 QU F3en: 13 S 11 grar g1 IR SR G= TS w AT 17 9
Tl 3T StTaT &, 7 IR T R

(a) 13

(b) 11

(c)7
(d) 4

Q29. The unit digit in the product (122)%7 jg

(122)"7 3 wrorrer & 7S st T 7

(a) 2

(b) 4

()6 TEST SERIES

(d)8 STAGE-II

Q30. A certain number when divided by 899 leaves the remainder

65. when the same number is divided by 31, the remainder is: RRB JE PRIME
et T AT @& #r 899 & AT 3 I AT 65 FraT gl 5 ST

Tt Y 31 & Rrofra frr strar 2, @ e 4w g ELECTRICAL
o 30+ TOTAL TESTS
(c) 4

(d)1 Validity : 2 Months
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